
Features:

6076infosheet.indd  Rev. 2019-10

Customer Support: 
PH:  800-633-3047  
www.polyvance.com

1128 Kirk Rd.  Rainsville,  AL 35986-6028  USA       International phone: +1-256-638-4103     

Polyvance’s 6076 Bumper Stabilizer is designed 
to help support today’s large, complex, multi-piece 
bumpers simplifying repairs and assembly. 

The Bumper Stabilizer attaches to any scissor stand 
and provides multiple adjustable anchor points to 
precisely support fragile bumper components during 
assembly or repair.  Bumper components can be held 
in virtually any position allowing one technician to 
do the work of two, while greatly reducing the risk of 
damage from accidental kinking or dropping of flimsy 
parts.

Benefits:

Bumper Stabilizer      					     6076

•	 Allows you to control the position of the bumper 
for better technician ergonomics during repair or 
assembly operations

•	 Eliminates the hassle and cost of dropping a bumper 
and scratching the paint right before delivery of the 
vehicle to the customer.

•	 Holds the components of multi-piece bumpers closely 
together to ease their assembly.

Bumper Assembly and Repair Workstand

•	 Sturdy, heavy-wall, black oxide-coated tubing is made 
in the USA and designed to attach quickly to one of 
your shop’s existing scissor stands.

•	 Six adjustable overhead anchor points designed to 
help support today’s multi-piece bumpers to ease 
assembly and repair operations.

•	 Six adjustable bungee cords of various lengths are 
used with the overhead anchors to secure the bumper 
to the stand, eliminating the risk of dropping and 
damaging the bumper. 

•	 Includes all hardware to attach the Bumper Stabilizer 
to your scissor stand.

Product Contents:

•  Bumper Stand Support Structure
•  Hardware Mounting Kit
•  (6) Six Adjustable Support Cords with Clips
•  (6) Six Adjustable Bungee Cord Brackets

Product Specifications:
•	 Shipping weight = 16 lb (7.3 kg)
•	 Package dimensions:
	 36 in x 12 in x 4 in	
	 (91.5 cm x 30.5 cm x 10.2 cm)
•	 UPC Code: 694687006204
•	 Made in USA

Product Page



Scissor stand
(not included)

U-bolts (x2)
1/4” nuts (x4)
1/4” washers (x4)

Crossbar supports (x2)

Crossbars (x2)

5/16” x 3” pivot bolt
w/ nylock nut and 
two washers

5/16” x 1” hex bolts (x2)

Vertical supports (x2)
(version 1 has two-piece
 supports; version 2 has
 one-piece)

6076infosheet.indd  Rev. 2019-10

Customer Support: 
PH:  800-633-3047  
www.polyvance.com

1128 Kirk Rd.  Rainsville,  AL 35986-6028  USA       International phone: +1-256-638-4103     

Assembly Drawing:

Assembly Video Use Video


